A = 2x*> + 5xy — 3y%, B = 4x% — 5xy + y%,C = —x*> + 4?4 ™,

2A-{B-(2C-3A)}

@ 8x% + 30xy — 24y? @ 8x2 —30xy — 24y?

® -8x2 + 30xy — 24y? @—8x2 + 10y?

® —8x% — 10y?

24-{B-(2C-3A)} =2A-B+2C-3A
=-A-B+2C

= —8x? + 10y?
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3a+b

(3a+3b) —2b = 3a+ (3b—2Db) :




3. (2% -3r+1)+ (2 +2) 2] ARkA oA E?

® -5x+1 @ —-x+1 ® 5x+1
@ x+1 @—7x+1

ox% —3x+ 1€ 2 + 22 A7 Lol 4 F3tet,
o e eyl




4. TR f(x)2 2 4 3x+ 22 WRH Y Fo] 3x— 4], L 27}
2x -+ 50191ek. o] w, £(1) 9] Zhe?

®-1  @o ® 1 @ 3 ® 5

B

f(x) = (2% +3x +2)(3x —4) + (2x + 5)
= 62>+ 922+ 6x—8x2 - 12x -8+ 2x+5
=6x34+x2-4x-3

L f)=6+1-4-3=0

f(x) = (2x +3x+2)(3x —4) + (2x + 5)
F1) = (243+2)(3-4)+(2+5) =~T+7=0
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xy —y?

O xy-y?

1
x2—2><§><y><y:x2—y2




6. x+y+z=3 xy+yz+zx=-1%4 W x2+y?+22 9 3= oY

@ @ 12 ® 13 @14 O

4y +22 = (x+y+2)7?%-2(xy+ yz+ x2)
=94+2=11




7. HEsRAE O go] 36, 2R C17F56 91 A5 A O] Tz o] Zol=?

@ @ 6 ® 7 @ 8 ® 9

A5 7z, Az, Eol& A4 a, b, ¢ 5L
4(a+ b+ c) = 36, 2(ab + bc + ca) = 56
(a+b+c)?=a®+b?+c?+2(ab + be + ca)
a®>+b%+c* =81-56=25
- (A2 Bol) = VEF P T

= V25=5




ohe BABAS AN A F e 2L

ru

@®
@) (a+b)2(a-b)> = a* - 22 + b*
B (—x+3)% = x3 - 9x2 4 27x — 27
@
®

(
(a-b)(a®+ab-b?) =a*-b*
(

p=D(P*+ (P +1)=p* -1

B

(x—y-1)2=x>+y>+1-2xy—2x+2y
(=x+3)3 = —x + 9x% — 27x + 27
(a—b)(a® +ab+b*) =a*-b?
(P=Dp+ 1>+ 1(p* +1) =p* -1




a=B+1)B2+1)B*+1)(3%+1)--- (31024 4 1) o]=2fa T off FA
A2 ]85t a9 TS Ao FHI = UERH %(3’ + m) ©]Th.
ol W, k+ 1+ m2] g oFH?

@® 2046 @ 2047 ® 2048 @2049 ® 2050

~&B ~

a=(3+1)(32+1)-- (3102 4 1)

o] (3-1)2 FotdH

(B3-1)a=0B-1)B+1)(3%2+1) (3*+1)
(31024 < 1)

2a=(32-1)(32+1) (3*+1)--- (3192 +1)
=(3"-1) (3" +1)--- (31024 + 1)
— (38 _ 1) (31024 + 1)

_ (32;]48 _ 1)

FHE 22 Y
1
i 32048 -1
a=3 )

Sok=2,1=2048, m = -1
Sk 414+ m = 2049




(3= 1)(x + 25 3)(x + ) WAL o, 2 ] A 3
HAE b B T, a4 b0 T AT
® 8 @15 @ @3 ® 47

(x=1)(x+2)(x = 3)(x+4)

= (2 +x-2)(x + x - 12)(x2 + x = X(Z&}))
=(X-2)(X-12)

=X%>-14X+24

= (x> +x)2 - 14(x% + x) + 24
=xt+2x3 - 13x% - 14x + 24
a=142-13-14+24=0, b=24
Ta+b=0+24=24




